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Answers to Student Book text questions





Chapter 2.7





page 205





1    a





Because the mixture goes darker, it suggests the equilibrium has moved to the right


to produce more nitrogen dioxide.





According to Le Chatelier’s principle, if the forward reaction is endothermic, raising temperature causes the equilibrium to shift to the right in an attempt to reduce the temperature.


The mixture will go paler as the equilibrium moves to the left. There are fewer molecules on the left-hand side so, according to Le Chatelier’s principle, if the pressure is increased the equilibrium moves to the left.





b





c





2    When chlorine is passed over iodine(I) chloride, the equilibrium moves to produce


solid iodine(III) chloride. When the U-tube is tipped, chlorine is removed and the equilibrium moves to the left to reform more chlorine.





page 207





1    a   Pressure will have no effect on the equilibrium as gases are not involved as reactants or products. The answer is not the same number of moles on each side


– it is true but is not the explanation.





b   (i) Moves to the right.


(iv) No effect.





(ii) Moves to the right.	(iii) Moves to the left.
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2





2CH3OH(l) + 3O2(g)  2CO2(g) + 4H2O(l)


Carbon monoxide will form if there is insufficient oxygen.
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